=c]]) fi:od:od:od:od:

22 =4
[5° =10
[5° =25°
[5° =38
[3° =3’
4 -
[22 =2
[17° =17"

[5° =10 +33°

[5° =14* +15°

> #X =y +27 ., =y +2 =)+ byH-E2019 — 11 — 15 :
> c:=0:forefrom2to4 doc := 0 :for x from 2 to 20 do for y from 1 to 100 do for z from y
to 100 do ifx5=ye+zethenc==c+1:print([x[o P=vlo *+z[. » F][H+E[No

+2f o ]H-E
No=1

4
+34o o ]H.E
No=2

[> for efrom 2 to5 do ¢ == 0 : for x from 2 t0 20 do for y from 1 to 100 do for z from y
to 100 do for w from zto 100 do ifx’ =)° + 2+ w'thenc == ¢ + 1 : print([x[, T
=V[o F+z[o o F+Ww[o o o I°)JlH*E[No=c]]) fi:od:od:0d:0d:od:

R
»
B2 e a2 ],
No=2
Fow T R ],
s
59w,
52 1 ],
.
5P T ],
-
=6 8 e
-
5P 2 s,
No=28
5= 13 a0t ],
-

LIRS

+523 o o ]H-E

0y



[5° =14" +25° +48° |

HeE
No=12

[505 - 1502 +2002 o +5002 o o ]H.E
No=13

[5> =157 +287 4467 ],
No=14

[505 - 1702 +3002 o +4402 o o ]H.E
No=15

[505 - 1802 +2002 o +4902 o o ]H.E
No=16

[5> =207 +317 4427 ],
No=17

[505 :2502 +3002 o +4002 o o ]H.E
No=18

[605 :402 +402 o +8802 o o ]H.E
No=19

[67 =47 +567  +687 ],
No=20

5 92 2 2
(67 =87 +447 +767 ],

No=21
(6 =122 +24° +84° ] .
No=22
[67 =207 +40°  +76° ],
No=23
[605 :2402 +6002 o +6002 o o ]H.E
No=24

5 A2 2 2
67 =367 +367 +727 |,

(60 =44” +527  +56° ],
No=26
[0 =6> +120  +18 ]
No=1
5 -2 v w2,
No—2
(120 =47 +327 +60] ], .
No=3
(122 =18° +30°  +60° |, .
No=4
[15° =15 +30°  +90° ]H.EO
No=5
[157 =39° +40° +86° |
No=6
(157 =49’ +57°  +77° |, .
No=7
[3° =3 +3* 43t ] .



[18° =18* +18"  +36"

4

° ]H-E

No=2

)



